
Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd. 1 / 3

Junjin CSM JET-11
No Crawler Drill Drfter Part Number Part Name Q'ty Unit Price Remarks

JD-1400E JET-11 D9J1-0000000 JET-11 DRIFTER ASSY 1
1 JD-1400E JET-11 MAIN PART - I 1
2 JD-1400E JET-11 MAIN PART - II 1
3 JD-1400E JET-11 SEAL KIT 1

JD-1400E JET-11 MAIN PART (I) MAIN PART - I
1 JD-1400E JET-11 DF05300 PISTON 1
2 JD-1400E JET-11 DF08400 VALVE 1
3 JD-1400E JET-11 DF00300 VALVE CAP 1
4 JD-1400E JET-11 DF00400 VALVE SLEEVE 1
5 JD-1400E JET-11 DF00500 PINION 1
6 JD-1400E JET-11 DF00600 CHUCK GEAR 1
7 JD-1400E JET-11 DF00700 DRIVER 1
8 JD-1400E JET-11 DF00820 PUSHER 1
9 JD-1400E JET-11 DF00900 DAMPER BUSH 1

10 JD-1400E JET-11 DF01010 DAMPER 1
11 JD-1400E JET-11 DF08300 FRONT RETAINER 1
12 JD-1400E JET-11 DF08200 FRONT BUSH 1
13 JD-1400E JET-11 DF05500 REAR BUSH 1
14 JD-1400E JET-11 DF01400 BEARING BUSH - 1 1
15 JD-1400E JET-11 DF01500 BEARING BUSH - 2 1
16 JD-1400E JET-11 DF01600 BEARING BUSH - 3 1
17 JD-1400E JET-11 DF01700 WEAR BUSH 1
18 JD-1400E JET-11 DF01800 SHANK ROD 1
19 JD-1400E JET-11 DF01900 FLUSHING HEAD 1
20 JD-1400E JET-11 DF02000 STOP RING 1
21 JD-1400E JET-11 DF02100 ADJUSTER 1
22 JD-1400E JET-11 DF04000 ACCUMULATOR HOUSING 1
23 JD-1400E JET-11 DF02300 PLUG 1
24 JD-1400E JET-11 4011000-3004530 NEEDLE BEARING 2
25 JD-1400E JET-11 DF02500 MOTOR FLANGE 1
26 JD-1400E JET-11 DJ08100 HYD. MOTOR 1 OMS 250
27 JD-1400E JET-11 DF04510 DAMPER RETAINER 1
28 JD-1400E JET-11 4965000-0081126 THRUST ROLLER BEARING 1
29 JD-1400E JET-11 DF02200 LOCK RING 1

JD-1400E JET-11 MAIN PART (II) MAIN PART - II
1 JD-1400E JET-11 DF05600 REAR COVER 1
2 JD-1400E JET-11 DF05200 CYLINDER BODY 1
3 JD-1400E JET-11 DF02900 DAMPER HOUSING 1
4 JD-1400E JET-11 DF03000 GEAR HOUSING 1
5 JD-1400E JET-11 DF03100 FRONT COVER 1
6 JD-1400E JET-11 DF03200 FLUSHING HOUSING 1
7 JD-1400E JET-11 DF03300 ACCUMULATOR - COVER 2
8 JD-1400E JET-11 DF03400 ADJ. NUT-2 1
9 JD-1400E JET-11 DF03500 ADJ. NUT 1

10 JD-1400E JET-11 DF03600 THROUGH BOLT 1

Junjin JET-11 Drifter Parts for JD1400E Crawler Drill

www.D
ril

lin
g.K

r



Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd. 2 / 3

No Crawler Drill Drfter Part Number Part Name Q'ty Unit Price Remarks

11 JD-1400E JET-11 SPRING WASHER 2
12 JD-1400E JET-11 DF03700 CAP NUT - 1 2
13 JD-1400E JET-11 DF03800 TIE BOLT 4
14 JD-1400E JET-11 SPRING WASHER 4
15 JD-1400E JET-11 DF03900 CAP NUT - 2 4
16 JD-1400E JET-11 SPRING WASHER 4 Ø24
17 JD-1400E JET-11 HEX. BOLT 4 M24 X P2.0 X 100

18 JD-1400E JET-11 DF02400 KNOCK PIN 4
19 JD-1400E JET-11 SPRING WASHER 8 Ø20
20 JD-1400E JET-11 HEX. BOLT 8 M20 X P1.5 X 95, 12T

21 JD-1400E JET-11 DF05700 CHARGING VALVE ASSY 2
22 JD-1400E JET-11 SOCKET BOLT 4 M12 X P1.75 X 150L

23 JD-1400E JET-11 SPRING WASHER 4
24 JD-1400E JET-11 HEX. NUT 4 M12 X P1.75
25 JD-1400E JET-11 DF02600 ORIFICE PLUG - 2 1 PT 1/8"
26 JD-1400E JET-11 DF02600 ORIFICE PLUG - 2 1 PT 1/8"
27 JD-1400E JET-11 DJ04400 ORIFICE PLUG - 1 1 PT 1/8"
28 JD-1400E JET-11 SOCKET PLUG 5 PF3/4" (O-RING)
29 JD-1400E JET-11 SOCKET PLUG 2 PF1/2" (O-RING)
30 JD-1400E JET-11 SOCKET PLUG 5 PF1/4" (O-RING)
31 JD-1400E JET-11 GREASE NIPPLE 1 PT 1/8"
32 JD-1400E JET-11 DF05400 REAR CAP 1

JD-1400E JET-11 SEAL KIT 1 SET
10 JD-1400E JET-11 DF09100 FLUSHING HEAD SEAL KIT

11 JD-1400E JET-11 3770000-000091A O - RING 1 P9
12 JD-1400E JET-11 3770000-000201A O - RING 1 P20
13 JD-1400E JET-11 3770000-000851A O - RING 3 P85
14 JD-1400E JET-11 3721505-0631200 U - PACKING 3

20 JD-1400E JET-11 DF09200 DRIVING SEAL KIT
21 JD-1400E JET-11 3770000-100501A O - RING 1 G50
22 JD-1400E JET-11 3770000-100801A O - RING 1 G80
23 JD-1400E JET-11 3770000-000091A O - RING 2 P9

30 JD-1400E JET-11 DF09300 DAMPING SEAL KIT ASSY

31 JD-1400E JET-11 37210000-4300800 GLYD RING 1 80
32 JD-1400E JET-11 37210000-4300700 GLYD RING 1 70
33 JD-1400E JET-11 3770000-100251B O - RING 1 G25
34 JD-1400E JET-11 3770000-000291B O - RING 1 P29
35 JD-1400E JET-11 3770000-101101B O - RING 1 G110
36 JD-1400E JET-11 3760000-101100E BACKUP RING 1 G11, ENDLESS
37 JD-1400E JET-11 3770000-000141B O - RING 1 P14

40 JD-1400E JET-11 DF11400 CYLINDER SEAL KIT ASSY

41 JD-1400E JET-11 3791005-1200450 STEP SEAL (K) 2
42 JD-1400E JET-11 3760000-100700E BACKUP RING 1 G70, ENDLESS
43 JD-1400E JET-11 3770000-100701B O - RING 3 G70
44 JD-1400E JET-11 3770000-100601B O - RING 1 G60
45 JD-1400E JET-11 3760000-100600E BACKUP RING 1 G60, ENDLESS
46 JD-1400E JET-11 3791005-1500370 STEP SEAL (K) 2
47 JD-1400E JET-11 3770000-100451B O - RING 1 0

www.D
ril

lin
g.K

r



Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd. 3 / 3

No Crawler Drill Drfter Part Number Part Name Q'ty Unit Price Remarks

48 JD-1400E JET-11 3760000-100450E BACKUP RING 1 G45, ENDLESS
49 JD-1400E JET-11 3770000-000181B O - RING 3 P18
50 JD-1400E JET-11 3770000-000241B O - RING 6 P24
51 JD-1400E JET-11 4125000-0000014 BONDED SEAL 2 PF1/4"
52 JD-1400E JET-11 3770000-000111B O - RING 5 P11
53 JD-1400E JET-11 3770000-000121B O - RING 1 P12
54 JD-1400E JET-11 3770000-100851B O - RING 1 G85
55 JD-1400E JET-11 DJ37-5005000-00 DIAPHRAGM 1

www.D
ril

lin
g.K

r


